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(1) A= - o1 @R Wiy
(2) FArEfw - fowt wfy

(3) Tl - =S gy

(4) T - S @ iy

‘ot = wir-fa=de 7

(1) 7+ 5w (2) R + =
3)f: + 3@ @) 71 + =
frrfafas ] o’ =t wataars &
(1) =9 (2) TR

(3) fagu 4 fe=

FETIE e ‘Un w5 Freeia § @ w o
LR Y

(1) 99 (2) 5@

(3) ¥ NORG

‘T e T walfies Iugw faey ¥

(1) === (2) WeH

(3) TUHHA (4) @A
frefafaa o fagdards vl =0 & 3w T 7
(1) via-arg (2) T=-v9

(3) STe-e (4) -

et @ faftfa ol & wed ¥ - fawew
T Y?

(1) 7 - fromma, feag, fean

(2) §-Tae, Grer, gus

(3) ¥ - wnfa, wfdans, 9™

(4) o7~ sndfa, sfie, sEle

8. ¥ HF-ur yreg ‘A’ ¥7?

10.
11.

12,

13.
14.
15.
16.

17.

(1) remn (2) =g
(3) gfawm (4) gfaen
Frafafaa ¥ A g e &

(1) wgsfa (2) Fres@

(3) S (4) anfefare

e o @ = v = e e §7

(1) sfere (2) aferss

(3) s 4) afers
Iauger Yol ¥ frar s arer o §?

(1) = yrawg T3 (2) FETEE AR
(3) Fater™ 9T (4) aftaT

femur s § s afusTd fRd 3R waTe™
3ifera =wTar ¥7

(1) Tt &R (2) sl SR

(3) T § (4) 9% & I |
"agr’ vreg ® g wwa b

(1) s (2) 7

(3) = @ fa

"l e WEE o A o ¥

(1) &f 9g9m W Fe T (2) HioT RE™ F

(3) 3T qA (4) Y Whe FE

fora famen o sty o §72

(1) TR (2) Fomdo

(3) e (4) 9qUT

FI | AT, U STERTE AU T ISTEIT &7
(1) TrersitaH (2) FHER

(3) gt (4) feg=

TEA T | Hafera ug §?

(1) sty (2) TR

(3) TFg (4) TumEiS



18. 3§ ¥ WrA-w v fean ¥ T v g

19.

20.

21,

22.

23.

24.

& &7

(1) gers (2) g

(3) frerd (4) Twrg

‘I LTS UM TE &1 T9 AT & W ofrsh
FUTATUT T =G HITAT-

(1) No action is necessary

(2) Not any action is compulsory

(3) The action is expected

(4) The action 1s necessary

Frefafaa = qafeaa Fifv-

-1 TqE-11

(o) ( ISR vreg )
(A) Fraers 99w () Resolution
(B) §Fc9 (i) Circular
(C) ¥a fagfa (i) Office-Memorandum
(D) 99 (iv) Press Note

A) B (© @

(1) iv iii ii i
(2) iii i iv ii
i TR | ii i iv
4) ii iii iv. i
"gfteeEl il A ¥ € WA 1 W o= gl

¥V A I T U & WA e wgE gu E?
(1) Foe Afwaras

(2) Fae SAfwaras SR Jga=®

(3) Fac] AfGaTF AR faa=s

(4) =afears, snfaaras iR Heera®

‘et THIT @’ qEaT ST Haifies S e §?
(1) =TT g & (2) vhgawd
(3) T w4 (4) ferafera &
frfafaa & & dgw fowar & 98 78 &

(1) smivaas - (2) S

() vEEEE (4) STTHREE
Prefafea ¥ frysaarss @& T IO §-
(1) 9& 2) #

3) 79 (4) i

25,

26.

27.

28.

29.

30.

31.

e 3 - T 2
(1) agwasﬁ%ﬁhﬁWWl

(2) TTestt 3w o FE STAFR W

(3) St e ot St AR e R

(4) ¥ < £ foF € FO T ST

forer fararea o foran  fheis | 0 # v g,
(1) T % FTee EH H G 5 |

(2) ST A fearenfefaf i 918 TErT

3) aggagqargm%éﬁt‘{’ﬂqﬁ@ﬁﬂr%[
(4) N e § Tl 3R A @R &

fp area o W AT TE 87

(1) foram wad e @Il 491l

(2) 7= T IS @ ¥

(3) et oY F ST R €

(4) HerX = W ® ¥ |

HAY[E AT T WA TR

(1) 3 STt st F R faem j )

(2) =l |ft weR i <angE e € 1

(3) T T GAE AL TE |

(4) T8 3R weart € stk F g e we@ §

AT % T U VI o HW H 3T fae - |

(1) TRT-o4 ¥ i e T4 - J&dT

(2) <t Tl & wren AN © - fe’ew
(3) ST et a1 H fae T & - H®
(4) < ferelt <1 % SIR-9R @ A & - A
(1) T HH FA A 59 - IR

(2). ST H FAHEA TR THW G - el
(3) S Teet el 7 g & - Iyaqd

(4) = T3 =1 fouen T - wasE®

Rt (F)
W|HET AN
Reflexive Pronouns are also known as:
(1) Compound Personal Pronouns
(2) Demonstrative Pronouns

(3) Possessive Pronouns
(4) Relative Pronouns

|




Choose the correct answer from the given options

3 to identify the underlined part of the sentence: M Shoake e cﬁorrecmt e

p’11 do it when I please. AT W o

) Adjective Clause (2) Adverb Clause (1) Suggestion may be accepted.

(3) Noun Clause (4) Prepositional Phrase B Saselon ey 52 o8 e

_ ; ¥ a (3) Proposal may be accepted.

The NEWSPAPErs ......... its going to ra .

i3, o'y gong . all of next (4) Tnstruction may be accepted.
| “‘tﬂ

(1) says (2) saymng 41. "% o wgw W t'l :

(3) say (4) be saying The above sentence can be translated into English as.
. Choose the correct Active transformation of the (1) L am reaching tomorrow

given Passive:

There is no shop to be let.
(1) There 18 no shop to let.

(2) 1 shall be rcaching tomorrow

(3) I am reaching to tomorrow

(2) Let there be shops to let. (4) T will be reaching to next day
(3) Let me have shops. 42. Choose the correct Hindi option :
(4) Shops are there to be let. Disclaimer

35. Choose the correct Active transformation of the (1) srirfs (2):&“&'51
given Passive: (3) STEEHR (4) FrEAfa
Notice was taken down. 43. Choose the correct Hindi option :

(1) They took down the notice.

' Inflation
(2) Notice has been taken down. (1) STE (2) FRTEHITA
(3) They will take the notice down. (3) sTTERIf (4) T

(4) None of the above
36. Change the following sentence from direct to

44. 'Cognizable offence' ST T it %-

indirect speech: (1) 33 (2) AT AT
He said, “Alas ! I am undone.” (3) &= Y (4) ST AU
(1) He exclaimed sadly that he was broke. 45. These repairs will take a long time.

(2) He exclaimed sadly that he was undone.
(3) He said sadly that he was undone.
(4) He said sadly that he was broke.

(1) These repairs will take not a long time
(2) These repairs will not a long time take
(3) These repairs will not take a long time

31. _____ wood floats on water— (4) These will not be take a long time
(nH A (2) The
(3) Most (4) No determiner | STt (W)

38. —— of the students were found exchanging notes HHT
during the examination. A
(1) several (2) much : _

(3 altiost T 46. Treatafaa = gafaa sifwe-

39, Choose the correct option of conversion from ( ferem) ( TEITIT/IMAT )
Assertive to Interrogative : (A) SHaTE] (1) 30°12' 3
Nobody can measure my love for you. (B)T?’fﬂﬁ'ef{ (1) 69°30"t!\‘q"
(1) Who will measure my love for you? :

(2) Who can measure my love for you? ' (©) "ﬂw : (I11) 23°3' 3™
(3) Who would measure my love for-you? (D) TR (IV) 78°17" 4&

(4) Who could ever measure my love for you? L T8



47.

48.

49.

51.

S2.

3.

54.

55.

(1) A-I11, B-11, C-1. D-IV
(2) A-IIL, B-IL. C-1V. D-1
(3) A-11, B-I11, C-1V, D-I
(4) A1, B-11. C-1V, D-TII

e W v T % R wm X e 17
(1) =ftgor-gaft (2) =figm -y
(3) STR-qE (4) STT-ufeash
wre-viet figt ToraT % frofafas § ¥ fe
e o aredt et §7
(1) == (Z)Hﬁﬁw%
3) & (4) ard
TR ¥ AR T Y g v e i
(1) et (2) T
i @

. HERR #ier W Fetor e s ar?
(1) TS (2) TsraT
(3) o™ (4) SRy
ey fied are few R o e &7
(1) SO (2) 3=
(3) SR (4)%3@ '
Frefefes & % i o 1 v gifer =8 £
(1) STeR-sTER
(2) SEER §9-AR % g
(3) T TEGIWE-SerR
(4) Tafsa vase-=ra
T 2020 T TSR § YT 3 Het evard o2
(1) 5998 Tt (2) 5800 f&t.
(3) 5837 Tt (4) 5737 Tewett,
2001 T SO S G ¥ SO 2011 F
T | ataa e § | e foewew gt 4
(1) =t feimrgara wer & 1 :
(2) SFREEAT S H g SeeE e g E |
(3) sFEET gfg <t | w4t o §
(4) fermgoma 4 gfg g5 ¥ |

T s T wad W Afeen wreRar fwm,
TN 2011 & AR, e § & fpe foaelt &
T urdt S §2
(1) SaqT-31erer
(3) FT-SFeR

(2) FE-SER
(4) SE-faaret

56.

- ¥

58.

59.

60.

61.

62.

63.

64.

65.

1818 §. #, Mﬁmﬁmmﬁm
H AT @ AT?

(1) =i FET (2) S e

(3) =T ¥R (4) I et
1817-1318%mﬁmﬁﬁ@rw%
wuw o, fraa 3 & |y | ¥

(1) =i (2) Frey

(3) T (4) Seqy
1ss7tmm#mmmm
e ar?

(1) B e (2) Fe1 $=5

(3) Fe Aol (4) TR Ferme
W%mmaﬁrm@mm%
(1) 317 et et (2) Tharen fef ey
(3) FElt fog sEs (4) warafHe amEs
mﬂ%mﬁmﬁ*@m#@mm

TS 7 ) A9 i T F fafes W |
uhmwmmmmﬁwﬁaﬁgﬁﬁm,m
T 378 A U T §?

(1) SR (2) YR
(3) H (4) <R
Frreaferfem o & ford e (welidt ) s ama arey, |
BT Wi &2
(1) 7RISt (2) TREsTt
(3) St (4) TTee
TSTET % URAg, Tt At T 3o o wgs
¥ femar wmar &7
(1) o= § (2) faer
(3) v (4) #rd
TrauTEeer’ fohe U & A T §?
(1) g 18 @)™
(3) s 4) =
‘TR et @ v it T
(1) fererrg (2) SR
(3) S (4) FremTETS ‘
Frefefes = gafm wifwg ot f g |
W WE I T AT -
A1 Te-11




66-

67-

68.

@ T (1) TR
(if) TEAT T SR @) Tt
(iv) T R ORE S
W:_ .o “esn

(1) ()-1.(1)-2.(i11)-3, (iv)~4
@Ni)-4.(10)-3,(iii)-1 (iv)-2

(3) ()-3.(1)4,(iii)-2,(iv)-1

(4) (1)-3.3)4, (ii)- 1 (iv)-2
11 (2)
P @)

Wﬁmﬂu‘ﬁﬁﬁmﬁmww
el W 317
(1) FTER @) o ]
(3) AFMA (@) iy
et T 3, ot 2 o 35 e
aedl o AT g AN HIE T §?
RS - (2) sren
S (4) =i |
(WHTAFITAR  (2) e % s
(3) Soafea T g (4) T fawren g
(ST SR (2) Hfeensii 3 e
() Te % 7@ (4) @t <
| B TSR SR M & S ——— % S W
MY A &2
(1) forg & 91 81 W
(2) fet Y faare * fore weama &
(3) ORI Ia T
(4) Tqarg G99
. e & & T g A §7
(EH ) ( T )
(1) SR eI g - 1982
() T et Uy STeRRH! - 1980
(3) TTey wferd won seE - 1957
(4) TrSTET HEpd STHRCH! - 1969 -

i ek ks T L g S

73. gEit-1 = geir-11 At wif-

74.

713,

76.

17

78.

79.

-1 -1
(whes e ) ( feafr)
a. <reftwndi B wad () D
b. reram (ii) SR
c. wRE (iii) =T
d. e (iv) FTI
%2

(1) a<(iv), b-(ii), c-(i), d~(ii)
(2) a<(i), b-(ii), e~(iii), d~(iv)
(3) aiii), b-(iv), c~(ii), d-(i)
(4) a<(iv), b(iii), (i), d-(i)
e o A AT FTEEwY T F e | e

¥ T ¥
(1) FF F1E Frer (2) F & F&E FA
(3) T FTEHH (4) SEHT AT

ToRAT % TR fre wd ¥, S agen v F
feafa & werfea & ¥?

(1) SR, 9, &

(2) dieqR, SEerr, fatE

(3) FFT, T, FTH

(4) ST, S, U

1992  TereT B STTER 356 % SHNTA IGATHUN
ara Freifera § | S TSR At I59uTe ar?
(1) T foer (3) TH. TG

(2) <=m fae (4) sigem o

WeW Wit St 7199 Hi fean 82

(1) =0 IR &1 & A

(2) geAwA (3) T=IITA

(4) T3 TayrEw F1 aftssaq 98

Prrefefaa # @ foram e faumT A & wew
witeRt, wie 2R feet wiient @ g wuren §2
(1) <. . dt. <t (2) T fFeiR ==

(3) T = (4) 7= <is fawdrg
frefafea § @ w9 T ¥ afie A T &
Tenft W wy?

(1) fRroreror =ne (2) wida it

(3) ErTETe A (4) Ffde IEmaa



80. TEA ¥ wEmaAl faTeT S el wfyen

81.

82.

83.

84.

85.

86.

87.

88.

faaa o g3 ar?
(1) HreTere gantsa (2) =T T
(3) SFT=Ig gEIfedl (4) 39 TEER

TreTeaT T ¥ faemedter & ug v Prgf @ s &2
(1) U= WA WA H

(2) T qFArF TArET Hb

(3) T Hafores s H

(4) UF T gomg =
frefafas § ¥ *F fen w1 W gy fraw
T g Ut & fo et §7

(1) fordt & fratem wimg

(2) forem wftwe sreaw (Foen wya)

(3) 71 = Foren wurdt w5t

(4) Foamita

Frefefaa ¥ & fFd am awr o st wfufy

& ®Y W AT 4T §-

(1) T =ga (2) dsra Tty
i (4) T e
(1) =ge (2) o

(3) fedit= (4) T

AT & YR T &1 pH AT ¢ -

(1)64 (2) 48

(3)74 4) 8.2

T forw T s < g drn §?

(1) Frersia (2) aTETE

() F=AfRa (@) B

e fem & &% o enfassr fwar?

(1) 3.9+ A MR ST
(3) TIFE W A (4) 3% T ¥ frerw
T 3 T €Y ST TS A SHTEahet et (e
fagra T 1A H §7

(1) Jhrer = frafiga o

(2) ST = Taafa qer=

(3) ST T IS

(4) T 1 qO1 SR TREdA

90.

91.

92.

93.

94.

g3.

- 96.

1.

Prorffaa ¥ & wad Tl g ¥?

(1) | (2) =&

(3) 9T (4) Rfem

. . T ¥ wat we e B
Zrar faar e §—

(1) Ctrl + Shift +F (2) Ctrl+Shift + ¢

(3) Ctrl + Shift + P (4) Ctrl + Shift |,

WW’H'& ........... mﬁﬁ?ﬁt__

(1) 05 (2) 12

(3) 13 (4) 14

MS Paint ¥ feet off T T ..., Wity
(Format) - | ‘ﬂ'(ﬁﬁ ’fﬁ ferar < "AEar—

(1) PNG (2) JPEG

(3) BMP (4) AVI

gt | i dufga A & T § Frer iy
Fr v o 7 ¥?

(1) a2 (2) FFirEse (kb)

(3) FmansE (Mb) (4) =TS (Gb)
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(1) 3 (392) 3 (fearss)
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(3) FTAT WH-TIA
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O Al &7
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(1) 40 99 () 55 T
(3) 50 = (4) 60 =

farlt e B 60 TS §1 50 FRenTR WX a9 |
@mmth@wmmi




aifae B T ¥\ ¥ T sttew v L
4
rafes B SR & T TR W o Rt

(1) 50 (2) 40

(3) 63 5 (4) 75

&t @ T A 250fwE iy Y T R
8. Ll
" i R aReE w aw 2 B gwm wiw

ara A qe?
(1) 20% (2) 27%
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e 10% FTUH TTR w2ar § i worewt geer 1996
a ar?

(1) 10,000 &. (2) 8000 %.
(3) 6561 ©. (4) 5616 ®.

;0. 7T 3 WG T=HT 20% W9 wran | yrarsy 3 12
[ifEaT 720 mﬁuﬁrwaﬂmmm
9936 T4 ¥ A= F vraww w5 w0 whreT Wi w2
(1) 15% ) 20%

() 35% (4) 52%

(01.% WETER ¥ | vl w1 fawa gow 300 TOA

uﬁmmwzs%mmaﬁ{a’&w

25% ST T g€ A ot W Fewert wirora s o an
T Es?

1
(1) 6% w7 ) 4%% ™

() 6% w1 (&) % e

RIE TR ART A3 :5: 7R AUA ¥
gfe fays &1 uftwmg 75 € o 9 @ agt Y= &t
e g ?

(1) 15 5% (@25
(3) 35 (4) 45

BTETE A 1%, 504, 5t a0 HA &
faakr 1:2:4:5% (ua ¥ 1 afg 3
foaat @1 A JTF 400 T. &, W 20 4N &
foass, 25 0 % faaw! @ faan atfus §2
(1) 100 (2) 300
(3) 500 (4) 700

104.¥57 ¥ 12,500 F. AT U THMA Wiew T
TG gy W AT 4 ST 2T ¥ e
B T ad % e F T 39 wah ater T @
ﬂmtmmm,mtm\t%é@%
WA W A AR WA PR W w s o

wftafera gam?
(1) s 2)7
3)4 4) 6

105.5000 5. @ 10 ufdwra aifts av A 3ad ¥ awgf
WA T WRO @A B S b §7
(1) 165 %. (2) 185 %.
(3) 175 . (4) 155 %.

106. e Twm f wm 4w 12% bR WA T A D
TUTT ¥ rAT?
(1) 8 =d 3 7ty (2) 8 A 4 AE
(3) 9 =d (4) s

107.2 gof wemsh &1 [oFwa 1500 &1 T FAP
HE WSS 10 | 9 §961 . 9. 9. 0 W2
(1) 15000 (2) 150
(3) 1500 (4) 1200

108. 919 qou 3R 4 Raai we o 16 RAI # A
wodt €, frg 4 gou wu 3 R 9@ s 12
Rl wv wed #1 aegER 2 3o a5 R

T8 ol e Rl A & qwa?
(1) 24 fe= (2) 20 fa=
3) 2= 4) 18 &=

109.7% @wiw Us Gal 9 600 W A TH W 2
i @ gu A g HEw: 80 A /fAe @
120 ey /MAe & & o @wiw 1 fbav w9

‘ghs AM?
(1) 10 fFe Q) 15 faFe
(3) 17 fime ' @) 374 @ I T8

110. 3rM® o9 5 fa=ll. /aver &t o | Qe s
¢, 99 6 fAve R W ugTa &, AT o 3R
/avel & | A W g, 99 16 fAFe | N
ugoa §1 oue Ruem @ @ T 8?

(1) 6 f&A. (@) 1.25 &A1
(3) 2 f&. 4) 4.25 f5 .



11, forelt weerars @t 11 Wi &% W % oo 5w
¥ 12 o ® IR 90 W w9 s sud w)

=T A ¥ 5 @t gig & 7w 124 iy %

IS IGF 0 w7 itaa e @ ?
(1) 30 (2) 35
(3) 40 (4) 45
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3.7 WO U6 FI A/ 600 #. 2 g oy ¥
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(4) 25000 .

1 1
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(1) 60 (2) 63
(3) 67 @ 73
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(1) 46 TR (2) 44712
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T ST I YT A sT-fohed <9 44.60 T

1
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(3)24 = (4) 45 99

119. 10,000 HUL &1 (=T 0 & T 22 s F gew @
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1.

. (3 9.

13.
18

W : (31) W T

(4) FEA:- F + HAE = 7o Hfy
' (3)W:—ﬁ:+m=ﬁﬂfﬂ.ﬁﬁﬁﬁﬁ1
3 () 4 ) 5@ 6 @

(2) EMEAT: - T = + 309 (81 view)

A = G4/ (T IR) + A (9T)

qIa = {9 (@ )

oo, Firsaer, Famn"!, 9 A N P ot €
‘aﬁ%'ﬁ‘w'm.‘aﬁﬁm'ﬁ‘m‘tgﬁmnm
‘v wog ¥ | Comafa’ F o soe ¥ wnfy’ w@
g ' H W e e v A o ot ¥
() 10. 2) 11. ) 12. (1)
(1) 4. (1) 15 (1) 16. (1) 17. (3)
. () |- 9uE d4 fawew fem ® ot wam
sl;mmaﬁafamw[faﬁw]+m
(wed] S 98 waaras g fafda g8 | v

® ot wora e wee wreETeE W ¥ sew
AOR

(1)
(1

20.
25,

(2) 21.
(3) 26.

4)
(2)

22,
27

4) 23.
3) 28.

3)
(2)

. (4) SIS~ S T IS o 31 IR S TRl § - IREE

o O H A R - Qe

. (1)

T : (&) QAR A=

. (1) Exp. : Reflexive pronoun %! compound personal

pronoun F I H A @@L

. (2) Exp. : The Adverb clause:- An adverb clause
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